1 Section 1

Annotate the following proof :

i 1. =¥x(Fx — Gx)

2. Ix—(Fx — Gx)
3. =(Fa — Ga)

i 4. =Ix(Fx A —Gx)
s, Vx—(Fx A =Gx)
6. —~(Fa A =Ga)

7. -FaVv ——Ga

8. Fa
9. =-—Ga
10. Ga

11. Fa — Ga
12. L

13. ==3x(Fx A =Gx)
14. 3x(Fx A =Gx)

15. Ix(Fx A =Gx)
16. Ix(Fx A =Gx)

T 17. Fa A —Ga

T 18. Fa — Ga

19. Fa

20. Ga

21. —Ga

22. 1
23. =(Fa — Ga)
24. Ix—(Fx — Gx)
25. Ix~(Fx — Gx)
26. “Vx(Fx — Gx)

27. =Vx(Fx — Gx) > Ix(Fx A =Gx)
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CQ:1

CQ: 4
VElim: 5
DeM: 6

DS: 7,8

DNE: 9

— Intro: 8-10
1 Intro: 3, 11
—Intro: 4-12
DNE: 13
JElim: 2,3 — 14

A Elim: 17

— Elim: 18, 19

A Elim: 17

1 Intro: 20, 21

1 Intro: 18-22,
dIntro: 23

JElim: 24

CQ: 25

< Intro: 1-15, 16-26
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Construct a formal proof of one (or both) of the following argument(s).

A. (Vz(FzV Gz); -VaGr) F JxFx
1. ¥x(Fx V Gx)

2. =VxGx
| 3. 3x~Gx CcQ: 2
4. -Ga
5.FaVv Ga VElim: 1
6. Fa DS: 5,4
7. IxFx JIntro: 6
8. IxFx JElim: 3,4 -7

B. F [Vz(Fz — Gx) A Jz(Fz A Hz)] — J2(Gx — Hz)

i 1. Wx(Fx — Gx) A 3x(Fx A Hx)
2. Yx(Fx — Gx) A Elim: 1
3. Ix(Fx A Hx) A Elim: 1
4. FaAHa
i 5. Ga
6. Ha AElim: 4
7. Ga — Ha — Intro: 56
8. Ix(Gx — Hx) JIntro: 7
9. Ix(Gx — Hx) JElim: 4 —8

10. [¥x(Fx — Gx) A 3x(Fx A Hx)] — 3x(Gx — Hx) — Intro: 1-9



